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Cluster: 0230 ptr; resid: 0.25; r/c: 28/79

x.range

upstream meme PSSM #1; e=2.5e+04

1 3 5 7 9 11 131 3 5 7 9 11 13

x.range

y.
ra

ng
e

upstream meme PSSM #2; e=1.1e+04

1 3 5 7 9 111 3 5 7 9
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11740

15019
25204

36743
4090152094

1628151303

17779

20589884231879
43016

11151

24408

26861

31975

33523 3578

38881

4249543135

44446

44794

45520

45976

46132

48430

string −500 −400 −300 −200 −100 −1
26861NA
48430−0.05
24408−0.25
17779−0.28
11151−0.45
20589−0.49
45976−0.57
31879−0.59
25204−0.70
44446−0.74
51303−0.80
31975−0.80
33523−0.94
16281−0.97
43016−0.99
46132−1.23
15019−1.31

8842−1.33
52094−1.35

3578−1.55
38881−1.71
44794−1.74
43135−2.10
42495−2.85
36743−3.92
45520−6.02
40901−6.66
11740−6.68

log10(P) upstream meme1 2 log10(P.clust)=−1.74; 28 seqs; 28 uniq
c(0.5, 2.5)
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